Brewer

100757 Storage Compartment Lid Service Part
for Brewer Access High-Low Table

\
/
Ir\tlzrrnnber Part Number | Description Quantity
1 100166 Storage Compartment Lid 1
2 100351 1/4” x 3/4” Carriage Bolt 3
3 000623 1/4” Hex Nut 3
4 99881 #10 x 3/4” Carriage Bolt 2
5 98474 #10 Hex Nut 2
6 100549 Bumper 2

The Brewer Company

13901 Main Street
Menomonee Falls, WI 53051
P 1.888.Brewer.]

F 262.251.1786

www.brewercompany.com

5.91

Document #100758 RevA



Brewer

100757 Storage Compartment Lid Service Part

for Brewer Acess High-Low Table

Tools Required:

3/8” Hex Socket Wrench
7/16” Hex Socket Wrench

Storage Compartment Lid Replacement:

Raise storage compartment lid to a vertical position.

Remove the top (2) #10 x 3/4” carriage bolt and hex nuts that
secure the lid support arm to the storage compartment lid.

Remove the (3) 1/4” x 3/4” carriage bolt and hex nuts that
secure the storage compartment lid to the hinge. Discard old
lid.

Replace with new storage compartment lid, securing with
new hardware provided.

1/4” x 3/4” Carriage Bolt
1/4” Hex Nut

#10 x 3/4” Carriage Bolt
#10 Hex Nut

o ([

Position bumpers on the inside back corner surface of the lid
so the lid rests on the bumpers when fully closed.

Bumpers

5.9.2

Document #100758 RevA



